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K= Z3NE ERE(L) SFSZ(l/er) | SHSZIIE | =1 0
#1 FXEAHEN 2400 ¢ 0.001J4 /e 0.01JH /cm olgt
#2 SXBAHE2 2400 ¢ 0.001JH /e 0.01JH/cmt ojet
#3 SXB3AHH3 2400 ¢ 0.001J4 /cm 0.01JH/cm olget
#4 SXZAHE4 2400 £ 0.001J4 /e 0.01JH /cm olgt
#5 lELH 1 400 £ 0.001J4 /cm 0.010H /cm* ol et
#6 NAFFH(AU) 1200 ¢ 0.001J4/cm 0.01JH /cm olet
#7 ATFH (A Q) 1200 £ 0.00124/cm 0.01JK/cm olet
#8 S| tHE+1 400 £ 0.001JH/cm 0.01JH /cm olgt
#9 Y| 72 400 £ 0.0012H /et 0.010H /cm ol et
#10 S| &3 400 £ 0.00224 / cm 0.01JH/cm olgt
#11 S| tHE74 400 £ 0.0034 /e 0.01JK /cm ol et
#12 S| &5 400 £ 0.0037H /cm 0.010H /e ol et
#13 HIIE BtE7 400 ¢ 0.0027} /e 0.01JH /cm olet
#14 HIOIS2 234 400 £ 0.00124 /cm 0.01JK /cm ol et




2018.08.12

K= S3NE SREW) SZsTOH/er) | MHESTIIE | X1 OF
#1 SXEAH S 2400 ¢ 0.0012H /cm 0.01JH /cm oret
#2 SXN3AHE2 2400 £ 0.0012H /ot 0.01J4 /cm (0] Rels
#3 SXZAH3 2400 £ 0.0012H/cmt 0.01H /cm orgt
#4 SXNBAH L4 2400 £ 0.0012H /car 0.01JH4 /et olet
#5 AAEATH(A Q) 1200 ¢ 0.0012HK /cmt 0.01JH /cm 0rat
#6 S| HEF 400 ¢ 0.0012H /et 0.01JH /e 0] Rels
#7 S| HIEF2 400 ¢ 0.0012H /cmt 0.01JH /e oret
#8 S &3 400 ¢ 0.0012H /ot 0.01JH4 /cm oret
#9 HOIS22&EA 400 ¢ 0.001JH/cmt 0.01JH /e olet




2018.08.13

A& SEFNE SRE(0) SFsZOH/cr) | HJBESTIIE (=D O
#1 SR A SN 2400 £ 0.0012H /cm 0.012H/cmt olgt
#2 FABAHE2 2400 ¢ 0.0012H/cmt 0.01JH /cm 012t
#3 FABAHES 2400 ¢ 0.0012H/cr 0.012H /cm 0] Rels
#4 SR A 4 2400 ¢ 0.0012H/cm 0.01J4 /cm 0lgt
#5 AT FH(AQ) 1200 ¢ 0.001JH/cm' 0.01JH /cm oret
#6 S| &+ 400 £ 0.0027H /cmt 0.01H /cm oret
#7 S| HEF2 400 £ 0.0012H /cm' 0.01J4 /e oret
#8 S| HE73 400 £ 0.0012H /cm' 0.01JH /cm olgt
#9 HOIS22& A 400 £ 0.0012H/cm 0.01JH /et (0] Rels




2018.08.14

A& SFNE SR(() SFsT(l/ar) | HABESTIIE | =W O
#1 SX3A & 2400 ¢ 0.0012H/cr 0.01J4/cm (0] Rels
#2 SXN3AE2 2400 £ 0.0012H /cmt 0.01JH /cm oret
#3 fX3AE3 2400 £ 0.001JHK/cm' 0.01J4/cnt olet
#4 SXNZAHE4 2400 ¢ 0.0012H/cmt 0.01JH/cm oret
#5 FIEEH S 400 ¢ 0.0012H /e 0.01J4/cm oret
#6 YA (AL) 1200 ¢ 0.001JHK /cm' 0.01JH /et olet
#7 AAGHFH(A Q) 1200 ¢ 0.0012H /cm' 0.01J4 /cm oret
#8 S| s+ 400 £ 0.0032H /cm 0.01J4 /cm olet
#9 S| tHE72 400 £ 0.003H /cnr 0.01J4/cm oret
#10 S| tHE+3 400 £ 0.0022H /cmt 0.01JH /cm oret
#11 S| HE+4 400 ¢ 0.0022H / cm 0.01JH/cm orgt
#12 S| =75 400 £ 0.0027H /cm' 0.0174 /cm oret
#13 HIlE gtE3R 400 ¢ 0.0012H /e 0.01JH /cm oret
#14 HOIS2E2EA 400 £ 0.0012H/cm 0.01JH/cm oret




2018.08.15

K= S3XE S=10)] SZ3sE0H/em) | AHsTIIE (=D Of
#1 SXZAHE 2400 £ 0.0012H/cmt 0.01JH/cm olet
#2 SXBAHE2 2400 £ 0.0012H/cm 0.01JH /et oret
#3 SABAHE3 2400 £ 0.0012H /et 0.01JH /e olet
#4 SXZH &4 2400 £ 0.0012H /e 0.01JH /cm olet
#5 AMEH Y 400 £ 0.0012H/cm 0.01JH /et (0] Rels
#6 I A B (AILH) 1200 £ 0.0012H/cm 0.01JH /e’ olet
#7 YEAFH(AQ) 1200 ¢ 0.0012H /e 0.01JH/cm 01gt
#8 S| &1 400 £ 0.0032H /e 0.01JH /cm oret
#9 S| tHE+2 400 £ 0.003JH /cm 0.01JH/cr olet
#10 S| tHE+3 400 ¢ 0.0032H /cnt 0.01JH /cm oret
#11 HOIS22& A 400 £ 0.0012H/cm 0.01JH /et 0] Rels




2018.08.16

Az S3NE SRE(0) SFsTOH/er) | AHSSIIE | =1 OF
#1 SXBAHEN 2400 £ 0.00124 /e 0.01H/cm olet
#2 SANBAHE2 2400 £ 0.0012H /cr 0.01JH/cm 012+
#3 SANZAH3 2400 ¢ 0.0012H /e 0.01JH/cm (0] Rels
#4 SXNEA 4 2400 ¢ 0.00124 /¢ 0.01H /cm olet
#5 EELH Y1 400 ¢ 0.0012H /cm 0.01JH/cm 012t
#6 SUFFH(AUL) 1200 ¢ 0.00124 /car 0.01JH /cm oret
#7 AYPETFH(A) 1200 ¢ 0.0012H/cnt 0.01JH/cm oret
#8 S| &1 400 ¢ 0.00324 / cmr 0.01JH/cm’ olet
#9 S| tis+2 400 ¢ 0.0022H /e’ 0.012H /cm olet
#10 S| =73 400 £ 0.0027H /cm 0.012H /cm olet
#11 HIIZ222E A 400 ¢ 0.0012H /e 0.01JH /cm oret




